A. Losungen fiir Einfeldsysteme

Tabelle A.10.: Einfeldtrager mit var. Moment

Randwerte:

Vip =M vie:M/1

M10 =0 Mi10:0

pro = ME2-T) 53 19:M% (2¥bA2-2%a*b-aA2) / (6%1¥ET)

w10 =0 wl0:0

V20 = ]\T/I VZ@:M/].

M = =M " M20: -M*b/1

a0 = MU0 529 : M (bA2-a*b+ar2) / (3%1#ET)

Wy = M0 29 -M+a*b* (b-a) /(3*1*ET)

Funktionsgleichungen:

V(x1) = AT/I Vx1:M/1

M(xq) = A% Mx1:M*x1/1

2 4002 2ab—a?
(P(xl) - W phixl:M:’:(3*x1A2+2*bA2_zf:a*b_aAz)/(Gz‘clftEI)

w(xy) = M) g ;g (x1A24+2%bA2-2%a%b-ar2) / (6¥1%ET)

Vixp) = AT/I Vx2:M/1

M(xy) = M02D) g M (x2-b) /1

M(3x2—6bxy+2b?—2ab+2a>
(xy) = DO ) phix2:M* (3%x202-6%b*x2+2*bA2-2*a*b+2*aA2) / (6¥1¥ET)

_ _ 2_ _ 2
w(ry) = DG 2 BT g s oM (x2-b) * (x2A2-2*b*x2-2%a*b+2*aA2) / (6¥1%ET)

ix



A. Losungen fiir Einfeldsysteme

Auflagerreaktionen:

A=Y p:m/1

B==M B:-M/1

Extremwerte:

Wenn a > b M,,,, Bereich 1

XMmax1 = (x1 = a) xMmaxl:a

Myax1 = M(x1 = a)‘TMb Mmax1:M*a/1

Wenn a < b M,,,, Bereich 2

XMmax2 = (¥2 = 0)  xMmax2:0

Myax2 = M(xp = 0) = 2 Mmax2: -M*b/1

Wenn a > b w,,,,, Bereich 1

Xeomax; = L\%z”b*“z xWmax1:sqrt(-2*bAr2+2*a*b+ar2)/sqrt(3)

—M =262+ 2ab+a?(2b>—2ab—a?)

wmax,l = 3572IE] wmaxl:-M*sqrt(-2*bAr2+2*a*b+a’r2) *(2*br2-2%a*b-a*r2)/(3+4(5/2)*1*EI)

Wenn a < b w,,,, Bereich 2

Xwmaxy = =(\3 b2+§”b_2“2_3b) xWmax2:-(sqrt(3) *sqrt(bA2+2*a*b-2*ar2)-3*b) /3

— 2 _n72)3/2
Wparz = 2020 ymax2: -M* (bA2+2*a*b-2%ar2) A (3/2) /(34 (5/2) *1*EL)




